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Projects that are not Scale Enhancing

(in a different business risk class)

•
Identify a Company in a business risk class similar to the project.

•
Obtain the beta of equity (L) of that Company

•
Unlever L using the company’s B/S to get U.  This is the pure business risk of the new venture.

•
Relever this business risk U, using the target B/S to also reflect the financial risk of the venture 

•
Compute the equity cost of capital for this project  (RS) using the relevant B/S.

•
Compute the WACC of the project

Determining Required Return of a New Project
Example 17.1 in text (p. 496)


WWE (World-Wide Enterprises)
B/S  =  1/3
=>
B/(B+S)  =  1/4   =   0.25  
rB  =  10%

Tc  =  40%

rS  =  ?
and    WACC  =  ?

Pure Play  =  AW, Inc.,



Other Data

B/S  =  2/3





rF  =  8%

   =   1.5


   

  E(rM) - rF  =  8.5%

rB  =  12%

Tc  =  40%

L  reflects both the business and financial risk of AW.

To isolate just the business risk, we must find U.



L   =   U [1 +  (B/S)(1-Tc)]



1.50  =  U [1 +  (2/3)(0.6)]

=>

U  =  1.07143

What is WWE’s L for the new project?  

L   =  U [1 +  (B/S)(1-Tc)]


        =  1.07143 [1 + (1/3)(0.6)]


        =  1.286

What is WWE’s RS?  and its WACC?



RS   =  RF  +  [E(RM) - RF]



         =  8.0  +  (1.286)(8.50)



        =  18.93%

Note: I have used the CAPM to solve for WWE’s RS where your text used Eq. 15.6. 

WACC     =  (B/B+S) RB (1-Tc) + (S/B+S) RS


      =   (1/4)(10%)(0.6)  +  (3/4)(18.93%)



      =   15.70%

A Supplemental Problem

1)
Dial Corporation is planning to expand into the floor & furniture cleaning liquids business by acquiring Presto Products, Inc.  Unfortunately, the valuation of Presto Products is difficult because this company is not publicly traded.  Dial’s target debt-equity ratio is 60% and its pre-tax borrowing rate is 14%.  Dial has identified Clorox Company, a publicly traded company in the floor & furniture cleaning liquids business for its pure-play computations.  Clorox uses a debt to equity ratio of 50%, its equity beta (from Value line) is 1.5.  The riskfree rate is 7% and the expected return on the market portfolio is 14%.  Both firms face a corporate tax rate of 35%.  

a)
What would be Clorox’ cost of capital had it been completely equity financed?

b)
What is the RWACC that Dial should use for valuing Presto Products in evaluating the possible acquisition?

1)
Clorox:

 = 1.5;
B/S =  50%;
Tc  =  35%

Dial:

B/S = 60%;
rB  =  14%;
Tc  =  35%

  
Other Information:
rf  =  7%;
rM  =  14%;   

a)  Clorox’ unlevered beta

L   =  U*[1 +  (B/S)(1 - Tc)]

1.5    =  U*[1 + 0.5*(1-0.35)]

=>  
U  =  1.5/1.325
=  1.1321

R0    =   Rf  + U(RM  –  Rf)  
                =  0.07  +  1.1321*(0.14 – 0.07)
 
               =    0.1492  or  14.92%
b)
WACC that Dial should use to value Presto Products.

RS    =   Rf  + L(RM   –  Rf),  
where L is the beta of Dial after the acquisition of Presto.

L   =   U*[1 +  (B/S)(1  –  Tc)]
where B/S and Tc are the debt-to-equity ratio and tax rate respectively of Dial after the acquisition of Presto.


L   =  1.1321*[1 +  (0.6)(1 – 0.35)]


L   =  1.5736
=>
RS    =  0.07  +  1.5736*(0.14  –  0.07)
 
                =    0.18  or  18%
WACC  =  B/(B+S) * RB (1 – Tc)  +  S/(B+S) * RS

B/S = 0.6  =  6/10   =>  B/(B+S)  =  6/16  and  S/(B+S)  =  10/16


WACC  =  (6/16) * 0.14*(0.65)  + (10/16) * 0.18   =  0.1466   or   14.66%
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